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° U T FX T F 5 o797 F FRT 597 32 &

Please make sure that the printed question paper are contains
32 questions.

o U9T-UF H alle & @ Y 79 T #E T T HE B GH TACYaw F JET-
g% g7 frg)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

o FYT 7 F TV [TGT & FVT G Gec, T B FHE ST [
Before beginning to answer a question, its Serial Number must be written.

o Fuv-giaHE & diT 7 @l 1/ 7 7 88/

Don'’t leave blank page/pages in your answer-book.

. Wﬁw%aﬂ%@ﬁaﬁs‘wsﬁa#ﬁﬁ/ ST HTRTEATA & g 3 forar
FTT 7 FE

Except answer—book, no extra sheet will be given. Write to the point and do
not strike the written answer.

o GOETE Yl AT To FIT-YH T Savd i@
Candidates must write their Roll Number on the question paper.
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° U FIT #F FGT 37 G g7 T’ %Tc??/‘%'mvwgvfaa@??m
IYUIT 37 T § 25 & arar :/37‘/%?776172?777

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

G (7397 -
General Instruction :

() @ g7 Sard &

All questions are compulsory.
(i) STFTEHTFTI2 W7 e T Fawae o q§ goRvadae @Be:
This question paper consists of 32 questions in all which are

divided into four Sections : A, B, Cand D :
G 3 57 G F1 G 16 7% 7 16 F97 &, &% J97 1 5% #T &1
Section A : There are 16 questions from 1 to 16, each of 1 mark.
€ §: 37 @€ 417 §21 T 7 5 797 &, 9% 597 3 3% # &
Section B : There are 5 questions from 17 to 21, each of 3 marks.
G q 59 G 722 727 T 37 6 F97 8, J9% 97 4 7% # &1
Section C : There are 6 questions from 22 to 27, each of 4 marks.
@Y€ T : 59 G5 728 7 32 7% F7 5 F97 &, J9% FT 5 5F #H &l
Section D : There are 5 questions from 28 to 32, each of S marks.
(i) @& T F @ 77 7 SRE A% T T4 &1 ITH @ G J97 F A &1

Section D contains two questions where internal choice have been

provided. You have to choose one of them.

gus -
SECTION — A
1. IR a AR b T TNF &, af 3% LCM SR HCF & T BT 1
(A) LCM > HCF (B) HCF > LCM
(C) HCF = LCM (D) 38 9§ Fig 7
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3503/(Set : B)

If a and b are two positive integers, then the relation between their LCM

and HCF will be :

(A) LCM > HCF (B) HCF > LCM
(C) HCF =LCM (D) None of these
2. I § HH-91 9gEE (Polynomial) B ? 1
1
(A) b B) x3+2
x+1
© —5 D) x+2
x“+1
Which one is polynomial ?
1
(A) b B) x3+2
x+1
© —5 D) x+2
x“+1
3. FHHCN a;x+by+c; =0 AR asXx+byy+cy =0 g i Z—1=£—1=C—1, ar
2 2
e & #-81 & ? . 1
(a) SR @ (B) HUKl 1@
(C) §HiTX Y@M (D) ZTH 9§ %3 78

a _Db

If in equations a;x+bjy+c; =0 and a,x+byy+c, =0, =

ay by ¢

then which of the following is true ?

(A) Intersecting lines (B)
(C) Parallel lines (D)
4. 3T § B4 A, P. 90 B 7
A) 2,4,8,12, ... (B)
(¢ -10,-6,-2,2,...... (D)
Which one is A. P. series ?
Aa) 2,4,8, 12, ... (B)
(¢) -10,-6,-2,2, ...... (D)

3503/(Set : B)

Coincident lines
None of these

1
0.2,0.22,0.222, ....

_4

’
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5. A.P.-10,-6,-2,2, .... % 20af & & : 1
(A) 66 (B) —66
(C) 77 (D) 9 § I -T&
In an A. P. =10, -6, -2, 2, ...., 20th term is :
(A) 66 (B) -66
c) 77 (D) None of these
6. BT & A ¥ § H-A1 I G9EY 7@ © ! 1
A P
AN
B 80° 40C 0 80° 40°, R
P
A
(B) 5 i i 3 6 5
C R
B 2.5 Q 4
L D
A N
M P
2
E 5 F
M P
A
N L .
0 \70 R
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Which one pair of the triangles is not similar triangles ?

P
"’ /ﬁ\
0 80° 40° R
P
®) A
5 3 6 5
C R
B 2.5 Q 4
L D
(®)
2.7 3 4 6
M 5 P e ; P
M P
D /\
(D) )5 ﬁ . /\
N L 70°
Q \ T R

7. AR A TEEY By @ Eel & STU 3 : 2 %, @ % &=ka # OTUd ®
1

A) V3:42 (B) 2:3
(C) 9:4 (D) 3T & FF &

If the ratio of the sides of two similar triangles is
3 : 2, then the ratio of their areas is :

A) V3:42 B) 2:3

C) 9:4 (D) None of these

3503/(Set : B) P.T.O.
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8. I0 & oK Rerd frdll fag @ g0 W dfel T wel t@mell & dern ® ;1

(A) 1 (B) 2
(€ 0 (D) FH & P T
Number of tangents drawn from a point inside the circle is :
(A) 1 (B) 2
(C) O (D) None of these
9. T g P fbal wst @ & gkl § ? 1
(A) 1 (B) 2

(C) BT T & W& (D) O

How many tangents can a circle have ?

(A) 1 B) 2
(C) Infinitely many D) O
10. fg Q(-3, -4) Frm aqefer & Rad & 2 1
(A) W (B) T
(C) feci (D) =gd
Point Q(-3, —4) lies in which quadrant ?
(A) First (B) Third
(C) Second (D) Fourth

11. &Fgat (-5, 7) @R (5, -7) & fam 9l YerEs & 7 g & Feais 8 1

@A) (5,7 (B) (0,0)
(€) (0,7) (D) (5, 0)
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12.

13.

14.

(7) 3503/(Set : B)

Coordinate of mid point of line joining two points (-5, 7) and (5, —7) are

(A) (5, 7) (B) (0, 0)
(€ (0,7) D) (5, 0)
AR &% M9 = g ' A I 1

“tan A % 9 G —1 X 1 & &9 &rar 8”7

State whether the following statement is true or false :

"The value of tan A is always lies in between —1 and 1"

TRE B S e g B A o 1
“A=0°T cot ATRHING & 8”7
State whether the following statement is true or false :

"cot A is not defined for A = 0°"

Brear ra 9a & SO BreudE & O A & e S Bier 00 ', Bl o 1

B) - xnr? (i o oo gy
360 360
© > xomr (D) T & A 7
180
Length of an arc of a sector of angle 6° of a circle with radius r will be :
B) - xnr? B) - xonr
360 360
(C) i>< 2nr (D) None of these
180

3503/(Set : B) P.T.O.



WWW.NEWJOBSINFO.IN


(8 3503/(Set : B)
15. @Q@%aﬂmqﬁﬁw4ﬁaﬁ?ﬁﬁa€w€5ﬁ% N SHH IR SAEA

BT : 1

(A) 20 84 (B) 207 IH>

(C) 30m TP (D) 80m T

The radius of the base of a cone is 4 cm and slant height is 5 cm. Its
CSAis :

(A) 20 cm® (B) 20w cm?

(C) 30m cm? (D) 80m cm?

16. UH & UH g B T, G&T 6 ST &l WiAhdl aff 1

A 1 B) O
1 '

© ¢ (D) = & &3 &
Probability of getting 6 in a single throw of a die is :
(A) 1 B) O

© é (D) None of these

glg - §
SECTION - B
17. frs @i % V7 % sy de B 3

Prove that \/7 is an irrational number.

18. @WWWWWW%WWWW%%@T4%IB
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Find a quadratic polynomial with the given number as the sum and

product of its zeroes respectively are %and 4.

19. CM 31X RN $H: AABC 3R APQOR & itz § I AABC ~ APQR &, @
g #IfvTT 5 AAMC ~ APNRI 3

CM and RN are respectively the medians of AABC and APQR. If AABC ~
APQR, prove that AAMC ~ APNR.

20. 1210°° & o R 3
cot25°
Find the value of :
tan 65°
cot25°

21. % JO&HR O NEH @ 10 HeX & H 1.50 Fo A a #ieX H W § JAB
FR ST S| BT H A B B G S B 3

Find the cost of ploughing the circular field having diameter 10 meter

and rate of ploughing is Rs. 1.50 per square meter.

grs - 9
SECTION-C

22, HIRad THHen H & B - 4
3x-y=3

x-y=4
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23.

24.

25.

26.

27.

(10) 3503/(Set : B)

Solve the following equations :
3x-y=3

x-y=4
et & Hed S i S A 27 & ol oEwd 182 8l 4

Find two numbers whose sum is 27 and product is 182.

10X 250 % 919 & 4 % e o1 8 ? 4

How many multiples of 4 lie between 10 and 250 ?

g #ifve % & d@= gof & S8 ga &l Sfar ot Bic gq & @l F 8, wWeh
fig W wwfEwG Bt &1 4

Prove that in two concentric circles, the chord of the larger circle, which
touches the smaller circle, is bisected at the point of contact.

qI & 52 T H AW TWE d Bl [ TF TZSl H § Th G Feb@r S g
TR 1T O 9 B Sl Sieal s it 4

One card is drawn from a well-shuffled deck of 52 cards. Find the
probability of getting a face card.

k& A9 S S, At g A8, 1), Bk, —4) 9iR C(2, -5) @@l 8l 4
Find the value of k, if the points A(8, 1), Bk, —4) and C(2, -5) are
collinear.
gug - §
SECTION-D
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28. 7 =1 Rafy gewf@ B 7 9t B A S0l o oY S ot &1 Rl B oy
AT 20 99 31 IR qY Q@ I oY (T H) B PO 48 o 5

Is the following situation possible ? If so, determine their present ages.
The sum of the ages of two friends is 20 years. Four years ago, the
product of their ages in years was 48.

29. TAGMH cosec A —cot? A=1 & TN &, g T F : 5

cCosA-sinA+1
cosA+sinA-1

=cosec A+cotA

A-sinA+1 . . .
Prove that -2 s%n =cosec A+cotA, wusing the identity
cosA+sinA-1

cosec 2A - Cot2 A=1.

HAYqT
OR

Th T B YA b T g 9 T @ G5 R $ SEE R0 FA 30° 9K
45°% A 4@ R @ 3 W A TER WA, @ A9 B AR TG i

From a point on a bridge across a river, the angles of depression of the
banks on opposite sides of the river are 30° and 45°, respectively. If the

bridge is at a height of 3 m from the banks, find the width of the river.

30. 4 &, 5 & ol 6 T el a7 U Brye @ @ i iR R 3E el
@mﬁrﬁaaﬁwaﬁﬁmﬁmﬁgmﬁﬁqwﬁaﬁﬁ@ﬁgmﬁeﬁgﬁ
IIRCE IR e I S 5
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(12) 3503/(Set : B)
Construct triangle of sides 4 cm, 5 cm and 6 cm and then a triangle
similar to it whose sides are % of the corresponding sides of the first

triangle. Give the justification of the construction also.

31. Bredr 4.2 9l A% o1g ® Th Mol B UEACBT BoAT 6 W AR Th o B @9
T I AT 31 S @ SHAR HId B (nzz—fj 5

A metallic sphere of radius 4.2 cm is melted and recast into the shape of

a cylinder of radius 6 cm. Find the height of the cylinder. (n = 2—72j

32. T% VY F 40 URET H dE Feheaq el & ard Sl ¥ qem o SAlhel
frr=foiea arell & =9 § g 6 o & 5

ders (Beft &) | 117.5- | 126.5- | 135.5- | 144.5- | 153.5- [162.5- 171.5-

126.5 | 135.5 | 144.5 | 153.5 | 162.5 |171.5| 180.5
ufwat @ §em| 3 5 9 12 5 4 2

gl @ e AR S i

The lengths of 40 leaves of a plant are measured correct to the nearest

millimetre and the data obtained is represented in the following table :

Length 117.5-]126.5- | 135.5- | 144.5- | 153.5- |162.5- 171.5-

(in mm) 126.5 | 135.5 | 144.5 | 153.5 | 162.5 |171.5| 180.5
Number of 3 5 9 12 5 4 2
Leaves

Find the median length of the leaves.

AYqT
OR
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(13) 3503/(Set : B)
frfafad de57 T Ao & I= B a6 99 T9 9T 81 A 99 &9 18 Fo
B 9 IRERAT f S B

A% 59w (B9 H)|11-18] 13-15 [15-17| 17-19 | 19-21 [21-23]23-25

e B G 7 | 6 9 | 13| F | 5| 4

The following distribution shows the daily pocket allowance of children
of a locality. The mean pocket allowance is Rs. 18. Find the missing
frequency f:

Daily Pocket Allowance|11-13| 13-15|15-17|17-19|19-21|21-23[23-25
(in Rs.)

Number of Children 7 6 9 13 f 5 4
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